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B. SC. GENERAL (BSCG) 
Term-End Examination 

December, 2022 
BGGET-142 : ECONOMIC GEOGRAPHY 

Time : 3 Hours     Maximum Marks : 100 

Note : All questions are compulsory. Marks are 

mentioned against each question. 

Answer questions 1 to 5 in 500 words each :  

1. Define ‘spatial interaction’ and ‘diffusion’ ? 
Explain in detail the three factors on which 
spatial interaction depends. 10 

Or 

What are indicators of development ? Discuss 

economic and social indicators of development 
in detail. 

2. Discuss in detail any two major bases of 

classification of resources with suitable 
examples.  10 
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Or 

Write a detailed account on distribution of 
energy resources of the world. 

3. Explain any two types of agricultural system of 
the world with suitable examples. 10 

Or 

Write a detailed account on effects of mining on 
landscape and environment with suitable 
examples. 

4. What are agro-based industries ? Highlight 
their advantages and disadvantages by citing 
suitable examples. 

Or 

Write a detailed account on different factors of 
industrial location. Support your answer with 
suitable examples. 

5. What is international trade ? Discuss trade 
blocs of the world. 10 

Or 

What is transport cost ? Explain the concept of 

transport cost. Discuss any two types of 
transport costs. 
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6. Answer any five of the following questions in 

250 words each : 5×6=30 

(a) Discuss the relation between economics 

and economic geography. 

(b) Differentiate between geographic fixity and 

mobility with suitable examples. 

(c) Explain ‘Work Participation Rate’ and 

‘Labour Force Participation Rate’ with 

formulas. 

(d) Write a note on dairy trade with suitable 

examples. 

(e) What is landuse pattern ? Discuss with 

suitable examples. 

(f) What are energy based industries ? 

Highlight any two advantages and 

disadvantages of the same. 

(g) Briefly highlight any six key challenges 

being faced by international transport 

system. 
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7. Answer any five of the following questions in 
150 words each : 5×4=20 

(a) Differentiate between ‘system analysis 
approach’ and ‘institutional approach’. 

(b) Differentiate between ‘complementarity’ 
and ‘intervening opportunities’. 

(c) What are quaternary economic activities ? 
Discuss with suitable examples. 

(d) Briefly explain regional disparities. 

(e) Differentiate between resource appraisal 
and resource evaluation. 

(f) Briefly discuss the status and challenges of 
sugar industry in India. 

(g) Mention any four steel producing regions of 
Japan. 
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ch- ,l- lh- lkekU; (ch- ,l- lh- th-) 

l=kkar ijh{kk 

fnlEcj] 2022 
ch- th- th- bZ- Vh--142 % vk£Fkd Hkwxksy 

le; % 3 ?k.Vs     vf/dre vad % 100 

uk sV % lHkh iz'uksa ds mÙkj nhft,A izR;sd iz'u ds lkeus 

vad bafxr gSaA 

 

uk sV % 1 ls 5 rd izR;sd iz'u ds mÙkj 500 'kCnksa esa 

nhft,A 

1- ^LFkkfud vUr%fØ;k* vkSj ^folj.k* dks ifjHkkf"kr 

dhft,A LFkkfud vUr%fØ;k ftu ij fuHkZj djrh gS] 

mu rhu dkjdksa dh O;k[;k foLrkj ls dhft,A 

vFkok 

fodkl ds lwpd D;k gSa \ fodkl ds vk£Fkd vkSj 

lkekftd lwpdksa dh foLrkj ls ppkZ dhft,A 
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2- mi;qDr mnkgj.k ds lkFk lalk/uksa ds oxhZdj.k ds 

fdUgha nks izeq[k vk/kjksa dh foLr`r ppkZ dhft,A 

vFkok 

fo'o ds ÅtkZ lalk/uksa ds forj.k ij ,d foLr`r 

fooj.k fyf[k,A 

3- mi;qDr mnkgj.kksa ds lkFk fo'o ds fdUgha nks izdkj 

ds Ñf"k rU=k dh O;k[;k dhft,A 10 

vFkok 

mi;qDr mnkgj.kksa ds lkFk Hkwn`'; vkSj i;kZoj.k ij 

[kuu ds izHkko ij foLr`r fooj.k fyf[k,A 

4- Ñf"k vk/kfjr m|ksx D;k gSa \ mi;qDr mnkgj.k nsrs 

gq, muds ykHk vkSj gkfu;ksa ij izdk'k Mkfy,A 10 

vFkok 

vkS|ksfxd vofLFkfr ds fofHkUu dkjdksa dk foLr`r 

fooj.k fyf[k,A mi;qDr mnkgj.kksa ds lkFk mÙkj 

nhft,A 

5- vUrjkZ"Vªh; O;kikj D;k gS \ fo'o ds O;kikj lewgksa 

dh ppkZ dhft,A 10 
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vFkok 

ifjogu ykxr D;k gS \ ifjogu ykxr vo/kj.kk dh 

O;k[;k dhft,A fdUgha nks izdkj dh ifjogu ykxrksa 

dh ppkZ dhft,A 

6- fuEufyf[kr esa ls izR;sd ds 250 'kCnksa esa  

fdUgha ik¡p iz'uksa ds mÙkj nhft, % 5×6=30 

(v) vFkZ'kkL=k vkSj vk£Fkd Hkwxksy esa lEcU/ dh ppkZ 

dhft,A 

(c) HkkSxksfyd fLFkjrk vkSj xfr'khyrk esa mi;qDr 

mnkgj.k ds lkFk vUrj crkb,A 

(l) lw=kksa ds lkFk ^dk;Z Hkkxhnkjh@lgHkkfxrk nj* rFkk 

^Je cy Hkkxhnkj@lgHkkfxrk nj* dh O;k[;k 

dhft,A 

(n) mi;qDr mnkgj.kksa ds lkFk nqX/ O;kikj ij 

fVIi.kh fyf[k,A 

(;) Hkwfe mi;ksx izfr:i D;k gSa \ mi;qDr mnkgj.k 

ds lkFk ppkZ dhft,A 

(j) ÅtkZ vk/kfjr m|ksx D;k gSa \ buds fdUgha nks 

ykHk vkSj gkfu;ksa ij izdk'k Mkfy,A 
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(y) vUrlkZ/u ifjogu rU=k }kjk lkeuk dh tkus 

okyh fdUgha N% izeq[k pqukSfr;ksa ij la{ksi esa 

izdk'k Mkfy,A 

7- fuEufyf[kr esa ls (izR;sd dk 150 'kCnksa esa)  

fdUgha ik¡p iz'uksa ds mÙkj nhft, % 5×4=20 

(v) ̂rU=k fo'ys"k.k mikxe@n`f"Vdks.k* vkSj ^laLFkkxr 

mikxe@n`f"Vdks.k* esa vUrj Li"V dhft,A 

(c) ̂lEiwjdrk* vkSj ^eè;orhZ volj* ds chp vUrj 

crkb,A 

(l) prqFkZd vk£Fkd fØ;kdyki D;k gSa \ mi;qDr 

mnkgj.k ds lkFk ppkZ dhft,A 

(n) la{ksi esa izknsf'kd fo"kerkvksa dh O;k[;k dhft,A 

(;) lk/ukadu vkSj lalk/u ewY;kadu esa vUrj 

crkb,A 

(j) Hkkjr esa phuh m|ksx dh fLFkfr ,oa pqukSfr;ksa dh 

laf{kIr ppkZ dhft,A 

(y) tkiku ds fdUgha pkj LVhy mRiknd izns'kksa dk 

mYys[k dhft,A 
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